UMK# Af

At H 1064048 148 BEH =05 T
B sz K % ouT IN GR HDCP NET e g5z K % ouT  IN  GR HDCP NET e
1 kR =xF 49 52 101 33.0 68.0 31 #A # 49 51 100 17.0 83.0

2 Emms E= 51 48 99 29.0 70.0 3 #% %= 55 64 119 36.0 83.0

3 A% =B 48 52 100 29.0 71.0 33 I #E 51 48 99 16.0 83.0

4 =% ®mB 47 4] 94 23.0 71.0 34  #mTF {8z 51 57 108 25.0 83.0

5 KRR m=# 43 41 84 13.0 71.0 3 AW #oit 48 50 98 15.0 83.0

6 HEF A& 44 45 89 17.0 72.0 3 WE x&E 56 60 116 32.0 84.0

7 #mE W 46 55 101 28.0 73.0 37 =Hl Z# 49 56 105 20.0 85.0

8 He A 52 50 102 29.0 73.0 38 &m m® 57 54 111 25.0 86.0

9 ML ®mx 49 53 102 28.0 74.0 39 #Hith ®x 54 54 108 21.0 87.0

10 =& #E 50 49 99 25.0 74.0 40 @# EH 53 54 107 20.0 87.0
o s#mE 51 50 101 27.0 74.0 41 It #Fa 61 62 123 33.0 90.0

12 Bt &= 42 41 83 9.0 74.0 BGA-I

13 A+ ##t 46 45 91 16.0 75.0

14 @ Rx 49 48 97 22.0 75.0

15 #W¥E # 48 48 96 21.0 75.0

16 HR =@ 50 46 96 21.0 75.0

17 sz Bk 47 45 0 92 17.0 75.0

18 Rr EBEAm 54 56 110 34.0 76.0

19 #H#F B 48 46 94 18.0 176.0

20 memr £ 49 50 99 23.0 76.0

21 e #2& 48 50 98 22.0 76.0

22 w*x #E 50 55 105 28.0 77.0

23 % #A 53 51 104 27.0 71.0

24 m# @ 56 47 103 25.0 78.0

25 HBI —x 52 46 98 19.0 79.0

26 g sfR 44 48 92 12.0 80.0

21 e 5EE 44 46 90 10.0 80.0 BGA-I

28 BB ®% 58 51 109 29.0 80.0

29 ®=# =AEp 51 49 100 19.0 81.0

30 == #¥¥ 52 483 100 19.0 81.0
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UMK# B

At H 1064048145 BEH =05 T
B sz K % ouT IN GR HDCP NET e g5z K % ouT IN  GR HDCP NET e

1 h& B\ 49 48 97 28.0 69.0 31 wx w41 38 719 1.0 78.0

2 #E om0 042 41 83 13.0 70.0 3 wHEA EE 52 50 102 23.0 79.0

3 #Bx % 50 51 101 31.0 70.0 33 RE mE 48 50 98 19.0 79.0

4 it 4~ 50 46 96 26.0 70.0 34 A £ 43 42 8 6.0 79.0

5 m®mER #% 37 40 77 6.0 71.0 3 A £= 40 39 /9 0.0 79.0

6 mt & 42 37 19 1.0 72.0 3  =HF 41 48 89 10.0 79.0

7 mmbu #F 43 40 83 11.0 72.0 37 =# #x 53 49 102 22.0 80.0

8 wE #ih 42 45 87 14.0 73.0 38 X% EHE 48 44 92 12.0 80.0

9o = = 37 39 16 3.0 73.0 BGB 39 AR #x 49 4] 96 16.0 80.0

10 x2 x#t 41 41 82 8.0 74.0 40 K == 44 47 91 11.0 80.0
11 mo & 47 42 89 15.0 74.0 41  #E@E =& 53 49 102 21.0 81.0
12 Zey #5 40 40 80 6.0 /4.0 42 %k BIX 49 53 102 21.0 81.0
13 wmE &= 47 39 8 11.0 175.0 43 wg #HmE 46 51 97 16.0 81.0
14 mXR LKE 42 43 85 10.0 /5.0 4 BB ¥ 54 44 98 17.0 81.0
15 EE @@ 47 49 96 21.0 75.0 45  Bmm gz 44 50 94 13.0 81.0
16 BA BEA 43 45 83 13.0 75.0 46 H#E 2 55 45 100 19.0 81.0
17 =8% —8 48 48 96 20.0 76.0 47  wno & 50 51 101 19.0 82.0
18 #AK #— 46 44 90 14.0 76.0 48 R ¥ 44 47 91 9.0 82.0
19 #R mE 45 41 86 10.0 76.0 49 ZFHEAK trt 49 43 92 10.0 82.0
20 &k #n 38 42 80 4.0 76.0 50 =@ &F 50 47 97 14.0 83.0
21 mE &- 43 49 92 15.0 71.0 51 g pEsx 48 51 99 15.0 84.0
2 ®ms &% 50 40 90 13.0 77.0 52 xm@JI #— 49 55 104 20.0 84.0
23 sk ¥ 46 42 88 11.0 77.0 53  fal % 46 51 97 13.0 84.0
24 A&t #- 51 47 98 20.0 78.0 54 Ak shE 57 58 115 30.0 85.0
25 WwT f@xr 47 45 92 14.0 78.0 55 HE # 52 51 103 15.0 88.0

26 % EE 46 46 92 14.0 78.0

21 KR x# 58 49 107 29.0 78.0

28 # F¥— 50 50 100 22.0 7/8.0

29 4L # 41 42 83 5.0 78.0

30 wH m# 42 41 83 5.0 78.0
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